

Pracovní sešit – str. 46/4

$$6,6 - 4,2 : 0,7 = 6,6 - \underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

$$8,7 + 10,4 : 0,8 = 8,7 + \underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

$$(4,3 + 2,9) : 0,09 = \underline{\hspace{2cm}} : 0,09 = \underline{\hspace{2cm}}$$

$$0,56 : 0,7 + 4,8 = \underline{\hspace{2cm}} + 4,8 = \underline{\hspace{2cm}}$$

$$9,1 + 6,3 : 0,09 = 9,1 + \underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$

$$7,2 : (2,4 - 1,6) = 7,2 : \underline{\hspace{2cm}} = \underline{\hspace{2cm}}$$